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Candidate must write first his / her Roll No. on the question paper
compulsorily.

wHft v g o a2

All the questions are compulsory.

TeiE U9 1 IR & T Iw-giee 4 @ fordl

Write the answer to each question in the given answer-book only.
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For questions having more than one part, the answers to those parts are to
be written together in continuity.
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If there is any error / difference / contradiction in Hindi & English Versions
of the question paper, the question of Hindi version should be treateq

valid.
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There are internal choice in Q. No. 21 to 23.
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SECTION - A

St v
P & e 1 et e e e St 4 feag -

Multiple Choice Question -

Write the correct option of answers of the following questions in the ansy,

book-
) i e F AT g S IR 0
(31) Fetfem (@) wEEEERA
(|) ufswfae 3 (3) Fgem
Example of hormone which inhibits growth is -
(A) Gibberelin (B) Cytokinin
(C) Abscisic acid (D) Insulin
if) TR = T W AR A R v Eger & forg e §e Il
(@) s (w) st
(@) argHiETR (3) memmiEash

Which part of brain is responsible for maintaining the posture and bala®
of body?

(A) Cerebrum (B) Fore - brain
(C) Cerebellum (D) Mid-brain
_S-07-Science | 1203 Al
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iv)

(&) T, T
(%) sifaw, dem
(@) i, e
(@) sffew, =W

External feature of genotype RrYY will be-
(A) Round, Green

(B) Wrinkled, Yellow

(C) Round, Yellow

(D) Wrinkled, Green

gt 5 o @i 1 € 81

Example of renewable source of energy is

(A). Wind energy
(B) petrol
(©) Coal
@) Wood
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V) mﬁmwﬁwﬂ'a“' %- [1]
(7) dowm @) =
The old concept of water harvesting in Rajasthaﬁ is -
(A) Khadin (B) Bundhjg
(C) Bandharas (D) Kulp
vi) fom o R |, (x) =1 9 g
(1)
e
.xf/
It feor Kﬂ?l‘qﬁa T
X
LV TTERTET T
(31) 60° (=) 90°
(|) 45° (B) 30°

In the given figure, the valye of angle (x) will be :

Normal
Incident ray Reflected ray
30° | x
‘\t
TTT777 f\f}g[;—“}*:f“;f?"?????‘
(A) 60° (B) 90°
l (C) 45° D) 30°
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(‘?) :;::?”qﬁéﬁf aaﬁ}%| : [1]
=
;rhe Muscle, anﬁFrn (Fw) ) % che ) e A
f\) Oenee Of the ;.. (®) ﬁhnﬁﬁhréhiéhanq#ﬂ
Ptic s Contrg)
(C) Nerveg
e of Pupi] (B) Focal length of the eye lens
Vin) kwp . (D) Shape of crystalline lens
®) i @ e
Which b (@) =

(4) pow as its unit?
© momemum (B) electric energy
(D) force
1X) 0% % fram o
- | Hafig :
B ﬁﬁw%mﬁ%@)ﬁm, (1]
. AT )—
-
(|) foeaam (3) e
Identify the device (y) in the given electric circuit related to ohm's law

=i

Li@:———quxw -
y

(A) voltmeter B) key
(C) electric cell (L) amnmieter
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) R i S ¥ SR e v we e g - 1
(®) it (3) ffwerm
The process of black coating on silver in environment is -
(A) Reduction (B) Corrosion
(C©) Rancidity (D) Double displacement
Xi) AL Fe 7o Zn & srfifrarsiiem a wd g s - [
(R) Fe < Zn < Al (&) Fe< Al<Zn
(®) Al<Fe<7p (3) Al<Zn<PFe
The correct ascending order of reactivity of Al, Fe and Zn is -
(A) Fe<Zn< Al ' (B) Fe < Al < Zn
(C) Al<Fe<Zn (D) Al<Zn<Fe

xit) CH,COOH+CH,-CH,0H —=_. [A] + H,0 vvir affufieay 3 i [A] 4 -

(1]
() CH,-CH,-0-CH,~CH,

(%) CH,-CH,-COOCH,
(®) H-C-O-CH,-CH,~CH,
L .
(%) CH,-C-O-CH,-CH,
Il
0
CH,COOH+CH,-CH,0H _ At

reaction is -

(A) CHa—CHz—O—CHz—CHE
(8) CH,-CH,-COOCH,
© H-C-0-CH,-CH,cH,

[Al+H ,0 Compound [A] in above



D) TR oy
LT Semta.,. ET ] | [1]
T
he salivy Containg ap enzyme called salivary
i mem%%%mmmw&ﬁwﬁmmﬁmﬁﬁ%
........... GRS 1]
Adva]jltage of vegetative propagation is that all plants produced by this are
genetically g the parent plant.
i) - wered St e R g R A R, .. ' FE gl [1]
Substances that are decomposed by biological processes are called
iv) <aes & T el # TR e g 2l [1]
Like poles of magnet with each other.
v) Rt T SUTEA A BT TEHRHE T .o 2l [1]
Chemical name of acid present in vinegar is
i) o ST AR R e SR A A o 3 (1]
Number of elements present in third period of modemn periodic table are
S-07-Science 1203 [ Turn Over
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3) AT T (SR o I O Ve A U e o feiae)
Very short answer type question (Answer the question in one word or in ong
line.)
D) TR e e R Gt fefa w5 22 (1]
Which mechanism regulates the action of a hormone?
) SEEE WEhia i am U s w1 e [1]
Write name of an organism that exhibits multiple fission.
i) et 3o % ITEm A 3 el uw gl i) (1]
Write one disadvantage of using fossil fuels.
iv) wiEs & Sigue® T TF ISR iR 1]
Give one example of abiotic component of ecosystem.
v) @ vifew 7™ P = 50w Q = § x 10 Q x m % <R 6t T aneh =W
W P9 Q % v " fafau) (1]
Write the corresponding values of two physical quantities P and Q for
which the length of conductor P = 50 and Q=8x%10* Q x m are reduced
to hallf.
vi) aﬁﬁu%@ﬁ@-@ﬁﬁﬁaﬁqﬁm? (1]
Why two magnetic field lines do not intersect to each other?
S-(37-Science
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vii) ﬁ?@ﬁ@w@m%w@maﬁw Qgi@aﬁ‘cﬁﬂaﬁh
[1]
fore fort s
at:urreﬂt

Draw diagram to show lines of magnetic field inside and around

carrying solenoid.
viil) SR st @t aiwiva Al (1]

Define neutralisation reaction.
ix) angfes aad Few i) [1]

Write modern periodic law.

x) CuO + H, _m= ,Cu+HO
St St § raiE 2 At srnRe @ AW fefae) 1]

CuO + H, __Hat ,Cu+ H,O

Write the name of reactant reduced in above reaction.

xi) T, g Ao fean § @ Hed W e M fetan 1]

Write name of hardest substance among iodine, diamond and sodium.

xii) e & gerari fag W i fabm S 1]

Draw clectron dot structure of methane.

y 1203 -
-07-Science ) [ Turn Over




10
@e — ¥
o=

ECTION - B

SECHIUN = b

e T 04 & 16 % TR IR F Reidyw | (g o 50 vy

answer type question-Write the answers of question number 04 to 16 i

Shortr ook (Word limit 50 words)

answe

4) dd THA Ea| qi’(ﬁliﬁii ﬁﬁ‘{l [2]

Define life processes.

5) et g i affim e Te g Qe ffey [1+Y2+Y4=2]

Define unisexual flower and write two examples of it.

6) afdeRT TR ARV < SIFUT H1 ATHiTRd Fe g 2]

Draw a labelled diagram of the germination of pollengrains on the stigma.

7) v % faftm aewt & e ol % ver =t e [2]

Explain the flow of energy between various components of the environment.

8) i) i % mada fr uftwmn S

i) AT % UvE-gva W % WU § s et gdu i AW el .
[1+1=

i)  Define magnification of lens.

ii i : : : {rTor 1 icles.
i) Write name of spherical mirror used as rear-view mirror in veh

9) i) TrE fwars & ahww SR
i) St % A Fram W smenfta R 3 g 3 A ol [1+1=2
i)  Define electric potential difference.

ii) Write names of any two devices based on Joule's 1aw of heating.

S-07-Science 1203
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Why are the household electric circuits, the electric appliances

connected in parallel combination?

2) 1) R v S (aEt ge) fram i
ii) forga Gedra SRor w aieniEa S
[1+1=2]

i)  Write Fleming's left-hand rule.
ii) Define electromagnetic induction.

3) uﬁﬁaﬁnﬁﬁmaﬁqﬁwﬁﬂzﬁﬁml [1+1=2]
Define roasting and calcination.

4) WW%WW@WWﬁ%WWW-
[1+1=2]

i) Na
443K e ® @5 HS0,

uations of chemical reactions of ethanol with following

i)
Write the balanced €q
reagents -

j) Na

i) Concentrated H,SO, at 443K temperature

H@qﬁﬁgﬂgmaﬁﬁaﬁﬂﬁﬁm 2]

:celle structure of soap.

6) qﬁ%ﬁmwaﬁ” i 2]

1203
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| SECTION - C
m_mﬁ@!l7ﬁ20aimﬁﬂ%ﬂﬁ%ﬁqq | (V2 ey

Write the answers of question number 17 t
0 2'“

tion-
ong answer type ques .
j;xsvfer book (Word limit 100 words)

mmu@@ﬁag‘fﬁqwmamamﬁ%@ql [z
.

17)
te the name and twoO functions of the hormone secreted by ovaries

Wri

[1YV241Y:=

18) e e s i ) o

Define homologous and analogous organs.

= Pafam i Tid 21 27 FeEEd|

19) 1)
E@ o dhd (ﬁma)mﬁh%aﬁ@%%‘?
[2+1=

Why do stars seem to twinkle? Explain.
ii)y Why are the danger signals red in colour?
*
20) Fraferian # A Tow P T T T EHEEG jaeles
i) —HaH AN
ii) e sififRan
Explain the following by giving one example Of each -
i) Combination reaction

i) Decomposition reaction

S-07-Science
‘g g




ST S-S o 21 @ 23 % T s # R (7 H

ssay type question-Write the answers of question number 2

13
=R
SECTION -D
250 153)

1 to 23 in answer

ook (Word limit 250 words)

1) 1)
i1)

1ii)

ii)

i1)

3-07-Science

TRIEE vaEA @ uiwiiva S|
WA $aE dt & A —HA ht THEAET
WS YarE a1 ATHIehd o T8I
[1+2+1=4]
Define aerobic respiration.
Explain air - passage of human respiratory system.

Draw a labelled diagram of human respiratory system.

arerar/OR

g =t afentya il

W%Wﬁmﬁﬁwﬁwﬁml
m%mﬂﬁﬂ(mﬁm)ﬁmmmﬂhﬁaml

[1+2+1=4)]

Define digestion.

Explain role of pancreatic juice in the digestion of food

Draw a Jabelled diagram of the structure of human alimen
tary Canal

[ Tum OVer
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. .- ?’ Wﬂmmﬁmwﬁﬁﬂqﬁa Gﬁh‘ﬁﬁtﬁ;%
: zdor & \
22) i) qa‘)? o gl . A wed q\.ﬂ' FIG
3 et con 1 fiwar 14 cm 2 Sah %|
i) W 2y

for image formation by concave IIITOr Whey, e

Draw 1ay diagram Oai
i is placed at its focus (F). |

i) If the radius of curvature of a spherical mirror is 14 cm thep fing s
1

Jlength.
Fraar/OR
i) o I o A S S gui i fehtt Tt e, srafes fa F, qanyp
R Al |

ii) @f o ofm it awar + 2.5 D 2, i 36 Wiehd gt 7 it

[2+2:

i) Draw ray diagram for image formation by convex lens when the b
placed between F, and 2F,.

ii) If the power of a lens is + 2.5 D, then find its focal length.

23) i) wiHia guw w1 HE Uk IR kA

i) 9 3% TR A e e e e w i [A] -
aﬁwﬁmwﬁmamﬁg@mﬁmma@mﬁw

%W&BJW?IIAJH[BJ%WQW%MWMW
|

[1#¥

1) Write any one example of olfactory indicator
pound [A] is formed on passing Carbondmi\n
0xcess; Quantity of the carbondioxide is P& ¥
on?p?‘und [B] is formed. Write chemical wall
0 ; i
Cchemica] reactions involved.

i) White precipitate of com
gas in lime water, if o

[A] & [B] and €quatj

S-07-Science
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grera/OR

ﬁﬁﬁﬁ[A]m%l[ﬁ]aﬁ

i) e e - g w8
ﬁﬁgﬁga@ﬁmﬁmm%uﬂg@gmﬁg

i)

e e R | [A] S e :
W%’I[A]meﬁﬁmamﬁfaamaﬁﬁaﬁﬁmﬁ%aﬁm%ﬁﬂl A
[1+3=4]

Write pH value of pure water.
m carbonaté with

;s formed bY the reaction of sodiu
also called as common salt. SO
aqueous solution of [Al-
ons involved.

diumhydroxide is

Compound [A]
Write chemical

hydrochloric acid. [A] 18

formed on passing electricity I
name of [A] and equations of Chemical reactl

383636
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